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— NRO7 19957 9% b a0 KT
Why do we also need this; it is the same as the Xw>9

OVERVIEW
X995 17 establishes the ¥n»72 that there are 12wiw 0°7¥ and there is an 71X 7V who
says exactly the opposite of what she says.

imely X7 MR XY DANIN N7 #
a7 | ARNY | ARHY TNNAM 00 DR | 37170 2N02M A0 IR | RYMT R |
N0 | ARV | A0 TNIAM ARAY DX | ORRY 2N02M 500 CIR | XWMT XD | 2
71170 | ARAY 711170 N2 DX NNV SN2 AN | XDWT XYM | 3
71170 | ARAY NP0 TN2M DX 77170 SN2 AN | XDWDT XD | 4

The X713 asks two questions on 95 217; the first one (which our N1v0IN references)
1s that we can derive #3 (X9°07 X°7) from #2 (X7 &9°0). Then the X773 asks that
we can derive #4 (X9°07 X9°0) from # 1 (Rw>97 Xw9). Our NHOIN explains why the
first question (from Xw17 X5°0) was not asked from X7 X7 as was the second
question.

mooIn asks:
— TV 9INRPTI RYIIT XYM NON 9INRP NY INNNI 9NN ON)

And if you will say, but why did not the X773 ask here (on #3) from the Nws9
N7 (#1) as the X1 asks shortly (on #4).

mdoIn explains how #3 can be derived from #1(as well as from #2):
— INOINT NINN DYDY ANV ST NYITT XYM 1YY RNT

For we know from the Xws97 X9 that when she says 7Xnv "IX she is 7710K since

she made herself into a ‘forbidden piece’ -
— DT NIMANR N¥INYN NN
And we also know from #1 that 70931 is permitted based on her testimony (that

777 °n1am) even though there is an X"V who testifies that aX»w 70720 -
— 24AN 197 NIDIDN NONYNRT 19Y Y9

So certainly (in #3) 70721 will be 7717w based on the testimony of the XY (who

! Therefore similarly by #3 where she says 7Xnv [*n72m] *3X she is also X»0 since XMO°RT 72°NA AwWoI> AN (even
though there is an X"y who says that she is 77170) as in #1.
? The testimony of an w3 7¥ is better than the testimony of an AwX. See ‘Thinking it over’. See however *"1n who
states: anY NPT 7RY NS 0h R''YR DY R RMIT 707 9. [‘And one can say that we may have thought
that she is believed more than an X"y, for since she was in captivity together with 70721 she knows more than
the X"y’.] Therefore we could not derive #3 from # 1 (only from #2).
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says 17170 7n72n) even though she says nX»v *n1am. The question is that the X3 could (should)
have said that #3 is superfluous for we know it already from #1 (Xw°7 Xw1) as the X723 shortly
states regarding the question on #4.

n90IN answers:
— NY 1999107 NIND VPINY 1D NN XONT 99D U

And one can say; that here the X3 is satisfied to state generally that the
teaching of #3 is the same as the Xw"9 (without being specific as to which part of the
xw9) -
— Y9N 197 NN NIINWN NNANT *1309nY 9193 XYIINT DIVN
Because from (#2) the Xw>9(7 X9°0) we can also derive that 7092 is 7970 based
on the testimony of an X'Y (as we can also derive this from (#1) the X7 X)) -
INYOIT NYIIN “NON 999 S8 NY 79102 YaN

However shortly the X713 cannot ask on #4 only from (#1) the Rws9T Nw»9,
therefore the Xni states specifically Rw 77 Xw>n.

SUMMARY
Case #3 can be derived from either case #1 or #2; however case #4 can only be
derived only from case #1.

THINKING IT OVER

MooIN states that if the AWK 1s 777 (when she says 7770 *n72m AR7HY "X [#1]) then
certainly the X"V is 7aX1 (when she said 7Xnv °n72m "IX and the X"Y says 77170 700720
[#31).° Seemingly in #1 since the woman initially says 70 >n72n she has the
MRl of onw (for at the time of her testimony no one is contradicting her),
however in #3 once the woman said 7X»v >n72n and the X"V says 7770 70727, he is
wnom from the AWK so perhaps he will not be believed.’

? mooin does not address how we derive that she is believed to say *IX 7Xnu (even though an X"Y contradicts her and
says 7770) since XMOWXT XN XWHIR XMW, We cannot derive this from #2 (where she says "1% 7770) only from #1
(where she admits that IXnv "1X). Perhaps n1901n assumes that this ruling of X710°X7 X2°Ni RWHOIR XMW is so obvious
(and known) that we do not need to derive it from elsewhere (even though previously n1901n said that we derive X"w
121 RwoIR (in #3) from #1 [see footnote #1])
* Seemingly noon is answering that when the X723 asks 1¥nw Xw*n 871 (generally, without being specific whether
it means X7 XY™ or Xw 17 ¥9°0) that is because indeed the question is from either one (but not that it excludes the
R 7 RW™M).
> We cannot derive that nI»X3 77970 >N1am (even against an X"Y) except from Xw™7 Xw* (for in the other two cases
she is claiming 71Xn0 >N72mM).
® See footnote # 2.
" See 1% naAX.
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